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Find the straight line [: ax + by + ¢ = 0.

[ ax+by+c= D-LJ()”(H“/J;

(I)  [passes through (1, 1)

b1, 1)

(I) I crosses x-axis at (2, 0) \
: N\
-ﬁ-'&" JI/ an%&é 0).l1

R

Options: N
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1. % 1 \\Q
2. % 2 X
D
3.3
4. % 4
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x+8y 4

What 15 the value Uf;

x—dy

- « AX+8y
Yy f}j"‘ ol T

Options :

1. % 1 ‘\Q\

S
2.9¥ 2 Q)‘Q
S
3.% 3 . 0
4. % 4 ,&Q,
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What is the first term of the Arithmetic progression?
o/ ;‘)’”.;wf Jab‘g%uﬁprngrcssiondw

() The sum of the first 6 terms of that progression is 78.

' ¥
_5,78;iﬁdﬁgé%@gipﬁ)gf@ﬂﬂl{}ﬂﬂ [
(II)  The sum of the first 10 terms of the progression is 210,

21044 1§ 22510 L progression 1.1

Options:
pt Q}.
1. % 1 ‘b.Q
2. % 2 &Q
R\Y
3.+ 3 &Q)
4, % 4 .\\Q

R
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What 1s the highest value of n such that 2" divides m?
3 e i ifn ]
(I) 40 divides m.
-_:-t:f (‘” hfm “40.1
(I) 288 divides m.

<t/ fm 288.11

o
Options : Q} *
N

- &
1 1 &Q
2. % 2 00

N
3. % 3 .&Q)A

N

4. ¥ 4 %.
&
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Whatis the area of the AABC ?

Jp# JKDABC k]
(I) AB+BC=7
(II) CA=5
Options :
1. % 1

Q
2. % 2 L
QQ)
3. % 3 Q(b"
O

4 .

4.4 4 \O
&
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How much will it cost to put a fence around a rectangular field?
. PNy e -
S B LAl .-.,#VUEJ’”A.Q
(I)  The ratio of the length and breadth of the rectangular field 15 8 : 5.

e/ {8 58 adedul

(II)  The cost of one meter of fence is Rs.100.

_5,%};100&@61.@;&/}'5&-“

Options : ‘\Q
1. % 1

2. % 2 00

3. % 3
&
4.¥ 4 .\\Q
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Is P, the father of Q?
< QP
(I) Q 1s a daughter of P.
< PQ]
(I) P is the mother-in-law of R.

< JWR* P

Q
. N

Options: Q}Q

R

1. % 1
RN
2.2 Q\O
&Q)
3.% 3 \\Q
4. % 4 ’

K
N\
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If pgr >0 isgr’p® <0 ?

pqr > 0¢°rp8 < 0 /

() r<o0
M g>0

Options :
1. % 1

2.8 2

3.+ 3 .00
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What is the volume of a cylinder whose height 1s 16 cm?

<16 cmsgﬁlufﬁ Enl/ f écylinder i

(I)  The cylinder 1s made of iron.

- Iniz¥e/Cylinder -I

(I) The diameter of the base 1s 16 cm.

- 16 cmPudeyll

Options :

1. % 1 ‘\Q\
: \.

&

2.¥ 2 ‘bQ

3. % 3 QG)Q
. ‘\0

4. % 4

<
N
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In the adjacent figure, what 1s ZBOC ?

-t 2 BOC o § P L

(I) £BAC = 60°
(I) OB=6cm

Options:
1.41

2. % 2 ,&QJ
3.% 3 ‘\\Q

*

4, % 4 ’&
- $
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Ramu and Ravi start a business jomtly. What 1s Ramu'’s share out of an annual
profit of Rs.50000.

-.5,50000 ,ﬁuﬁ(’jb‘;ﬂbfru- ,',‘:'LJ/ L };gmf .{L"’ SUS v,
(I) Ravi’s investment 1s 23% more than Ramu’s investment.
ek 25% G S G S
(II) Ramu’s mvestment 1s Rs.175000.

- 1750004 /4111

Options : ‘ Q\
S
1. 91 Q

2. % 2 0
3. % 3 Q\O

4. % 4 \\Q

*

R
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How many girls are there in that class?

-
S AUy
(I) The number of boys in the class 15 72.

]2 e Jw’:"‘-l

(I) 12 times number of girls m the class 1s equal to 7 times number of

boys in the class.

_,,‘_-_Q’;L,»[,,[,;:'J'Ljfw‘/j;-';j,?durﬁlﬁdfu;f}';j; 12.J1

Options : '\Q\

1. 8 1

2. % 2 0
Q
3.3 B

4. % 4 ‘\\Q
&&%
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What 1s the Median of the data contamning a set of observations?

-Jfﬁ")i’” ::lbﬁs;.ufj,ff"
(I)  The Mean of the data 1s 78.

- 18 byl
(II) The Mode of the data is 77.

2.1 Modeky_I1

Options :

1.8 1 '\Q\

2. % 2 Q}
N
3.¥3 C:;Q
.\00
4. % 4 Q)A
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What 1s the product of 5 positive real numbers which are m the Geometric
Progression?

-JtutGeometric Progression 26/ 2 S b8l 5
(I) Sum of the 5 numbers 1s 386.
-%3861’&‘5}')6’5 4
(I) The third term is 42.

A2 et A1

Options : . Q\
1. % 1 QQ;&
2.9¥ 2

3. % 3 R\
4. % 4 \\Q
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What day of the week Mr.X birth day comes this year 20237

S L s Prage X 2 L2030
(I) Last year hus birth day was on Wednesday.
-&Kﬁ;gﬁnﬂq&ri:ﬁfdb_l
(II) Mr.X was born in the month of February.

g oot LS npX 2

Options :
1.41
2. % 2 00

3.% 3 <
\
4. % 4 0\\Q

R
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Who is thetallest among 4, B, C'?

ebhdicorgf 2A, B, C
(I) B 1s the father of C.
- AC* Bl
(I) A 1s the only son of C

b KC AT

Options : '\Q\

1. 8 1

2. % 2 0
3. % 3 A\O

W
&&%
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Is Mr.X mtelligent?

XY
(I) All doctors are intelligents.

et el ]

(II) MrX 1s an engineer.

-{-f%f!blj)( - |

Options :

1. % 1 Q}Q

2. % 2 O
O
3.% 3 A\

4.4 4 \\Q
&&%
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What 1s the perimeter of AABC ?

- trifperimetersAABC

() AB+BC=14
() AB.BC =48

Options :
1. % 1 &“\Q\
2. % 2 Q
R
3.% 3 &Q
4.4 4 ‘\0
&
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Who 15 youngest among 4, B, C'?
e ltfe A, B, C

(I) B 1s abrother of C.

. JC “B.I

(I) A is a daughter of B.

e $UB A

Options : '\Q\
1. % 1

2. % 2
S

3.% 3 Q)
4.4 \\Q&
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.d.fﬁ-g (JL&JL—_j}f)diﬁy{:dj}z}}:—?}fédifﬁpc 21-30-= Uiy

_P'_.by/,_{)/urﬁdb/mﬁ;;u‘;IJ_JJ_LM»;:;H_.,*"LLEHJ,E-:

AEF BH ;; NQR :

(1) OUV
(2) OVU
(3) UVO
(4) VUO
Q
N
Q} .
Options: (&
R

1.41 .00

2. % 2 <
N

*

3.# 3

R
4. % 4 \6&
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.d.fﬁ-g (JL&JL—_j}f)diﬁy{:dj}z}}:—?}fédifﬁpc 21-30-= Uiy

_P'_.by/,_{)/urﬁdb/mﬁ;;u‘;IJ_JJ_LM»;:;H_.,*"LLEHJ,E-:

APRIL : 64 : JULY -

(1) 248
(2) 343
(3) 363
(4) 412

Options: (bQ

1. % 1 Q.
QO
2.¥2 4\

3. % 3 .\\Q

*

4, % 4 ’\Q
A\,
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.diﬁ-g (J!A';IL-_j}f)diﬁy{:djﬂui?})ﬂdifﬁpc 21-30-= Uiy
_P'_.by/,_{)/urﬁdb/mﬁ;;u‘;IJ_JJ_LM»;:;H_.,*"LLEHJ,E-:

MANGO : QIPCO :: ORANGE :

(1) GIPCTE
(2) OIPCTE
(3) GIPCTQ
(4) OIPCTQ \Q\

Options : COQ

1. % 1 <

2. % 2

&)
KR
A\,

3.3

4. % 4

Question Number : 24 Question Id : 7856743769 Question Type : MCQ Option Shuffling : No
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__.-)w’_*zﬂlr
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.d.fﬁ-g (JL&JL—_j}f)diﬁy{:dj}z}}:—?}fédifﬁpc 21-30-= Uiy

_P'_.by/,_{)/urﬁdb/mﬁ;;u‘;IJ_JJ_LM»;:;H_.,*"LLEHJ,E-:

: HDGF :: FILM : ADGH

(1) LINK
(2) BALD
(3) NAME
(4) MILK

Options : QQ}
1. % 1 c_',Q(b.

2. % 2 ¢

N

4.4 4 SN
R
A\

Question Number : 25 Question Id : 7856743770 Question Type : MCQ Option Shuffling : No

3.# 3
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in

the blanks appropriately.

:(Ly‘:f.d.fﬁ-g (JL«;";.JJF)ciﬁy,;:dfﬁui?:fdifﬁd 21-30-= Uiy

_P'_.?géfuﬁdi&/mi;;u‘;fdj\,w)_ﬁ_@'ba{:;.f_.r‘;f.djﬁd/n

LEOM : 126d13 = = 216023

(1) UXW

(2) UKX

(3) VW

4 VX
@ V® ) \Q\
Q}’
Options: ‘&
R
1.9 1 R 0
Q\
2. % 2 .&Q)
3.% 3 ‘\\Q
Q%

4. % 4 \6’&\
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__.-)w”:aﬂlr
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.diﬁ-g (J!A';IL-_j}f)diﬁy{:djﬂui?})ﬂdifﬁpc 21-30-= Uiy
_P'_.by/,_{)/urﬁdb/mﬁ;;u‘;IJ_JJ_LM»;:;H_.,*"LLEHJ,E-:

GKXP : : FLTR : CRQX
(1) CPTU
2) DQUV
(3) DRVX
4) CQSZ

Options : (&
1. % 1 0

2.¥2 Q)
3.% 3 \\'Q&

cé.
4. % 4 ’&
AN
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.diﬁ-g (J!A';IL-_j}f)diﬁy{:djﬂui?})ﬂdifﬁpc 21-30-= Uiy
_P'_.by/,_{)/urﬁdb/mﬁ;;u‘;IJ_JJ_LM»;:;H_.,*"LLEHJ,E-:

2334.20::5475.
(1y 35
2y 27
3) 29
4) 30

Options : G_)Q

1. 8 1 ¢

N

3.% 3 %.

K
N\

2.8 2

4.9 4
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.d.fﬁ-g (JL«;";.JJF)ciﬁy,;:dfﬁui?:fdifﬁd 21-30-= Uiy

_P'_.?géfuﬁdi&/mi;;u‘;fdj\,w)_ﬁ_@'ba{:;.f_.r‘;f.djﬁd/n

14(2) : 30(3) : 330 (__ ) : 105(3)

1) 2

2) 4

(3) 3 \

@ &

&
R
| R

Options: . 0

1. % 1 .&Q)

2.¥ 2

%o
R
3. % 3 \6&

4. % 4
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.d.fﬁ-g (JL«;";.JJF)ciﬁy,;:dfﬁui?:fdifﬁd 21-30-= Uiy

_P'_.?géfuﬁdi&/mi;;u‘;fdj\,w)_ﬁ_@'ba{:;.f_.r‘;f.djﬁd/n

DRFRH: 4Q6@8::  :22024Q 26

(1) URVERW
2) VRWRX
3) XXYRZ
9 VRXQZ
) VOXE® Q\

Options: (bQ
1. % 1 O

2. % 2 Q)
3.% 3 \\'Q&

S
4.9 4 \Q
N\
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In the questions 21-30. each containst{3eg/prenoedpapams (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill in
the blanks appropriately.

:(Ly‘:f.d.fﬁ.gi (J!A';IL-_j!;)diad:}",{:djﬂ}}i?dfﬂdifﬁpc 21-30-= Uiy
_L@_L;':ffuzﬁd’&/mﬁ;;u‘;fdjx,w”_i.@'ba:.i.!}édjﬁdfn

ABCdef : DEFghi :: PQRstu ;

(1) XYZxyz
(2) YZAyza
(3) STUvwx
4) TUVtuy ‘\’Q\

Options: COQ
1. %1 A\

2. % 2

3.3 S
R
N\

4. % 4
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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__..,»lbf_-,uw

Note : Inquestions numbered 31 to 35 pick the odd thing out

Loz LS 531350y 1o

2 txt1=0 2244 4=0 22 16x1+9=0

P +8x416=0 2+ 12x+36 =022 4 14x+-49 =0
(1) x2*Extl=0

2) x>+4x+4=0

(3) x24+6x+9=0

4 x?48x+16=0 ‘\’Q\
Q}.
Options : ‘bQ
\\)c,Q
1.4 1 . 0
Q\
2. % 2 .&Q)

N

*

3.# 3

4. % 4 ’&Q
- N

Question Number : 32 Question Id : 7856743777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h.-')w/:-wulf

Note : Inquestions numbered 31 to 35 pick the odd thing out

-uf’l?”;'_.J:.glﬁf.J'rﬁFB 1-35= iy 1y
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CROW, PIGEON, HEN. PARROT. KING FISHER
(1) CROW
(2) PIGEON
(3) HEN
(4) PARROT

Options :
1. %1

. ‘\Q\
Q}‘

R

)

Question Number : 33 Question Id : 78567@37 Question Type : MCQ Option Shuffling : No

3.3

4. % 4

Display Question Number : Yes Is Qu Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum I ’tﬁlction Time: 0

Correct Marks : 1 Wrong Marh&’&
Problem Solving

__,}bf_-,uw

Note : Inquestions numbered 31 to 35 pick the odd thing out

Loz LS 531350y 1o
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L2523, & 3,5, ¥ 5, T, 37, 1y 13, W5 13, 0205 17,19, 325

(1) L2.5
(2} 2;3,8
3) 5,7,37
(4) 17,19.325
Options :
1.9 1
2. % 2 Q\
3.% 3 »

&.
%
4. % 4 (GQ

S

Question Number : 34 Question Id : 78567@57 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Ql\l@\ Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Ir§3n ction Time : 0

Correct Marks : 1 Wrong Ma\r&’@

Problem Solving

__.-}Lb’_".«mf

Note : Inquestions numbered 31 to 35 pick the odd thing out

4 ﬂ;%.:;uﬁifﬁ:@l-?ﬁ;ﬂ!r Ly
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(3.4.5). (9,40, 41), (15, 112, 113). (11, 60, 61). (21, 220, 221), (13, 84. 835).
(11,61, 62)

(1) (15,112, 113)
(2) (11, 60,61)
(3) (11,61, 62)
(4) (21,220,221)

Options:
Q

1. % 1 N

\.
2. % 2 %QQ)
o R

.\0

4. % 4

<
N

Question Number : 35 Questio@856743780 Question Type : MCQ Option Shuffling : No
Display Question Number :\éfs Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-}Lb’_".«mf

Note : Inquestions numbered 31 to 35 pick the odd thing out

4 f@&__.;;glﬁifﬁfﬂ-?jﬁaﬂ!r 1
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Lake. Pond. Pool. Tank. Brook. Sump
(1) Lake
(2) Brook
(3) Pond
(4) Tank

Options:

1. 8 1

Q
2.9¥2 \Q

\.
3. % 3 (&Q)
4. % 4 &Q

Sub-Section Number : Q)A\ 4
Sub-Section Id : \Q& 785674418
Question Shuffling Allowed : é\ Yes

Is Section Default? : \6\,’& null

Question Number : 36 Question Id : 7856743781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,}bf_-,uw

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0P ol st it LKL 3645 1
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1‘1,5, pirg 7
3" 3'3
10
1y
(1) 3
(2) 2
11
N =
(3) 3
4) 4
Options :
Q
1. 1 .

2.2 (o)
\\?,Q
3.% 3 .Q

Question Number : 37 Questiq@: 7856743782 Question Type : MCQ Option Shuffling : No
Display Question Number :&Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h.-')w/:-wulf

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2
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196. 16. 144. 36. . 64, 64, 100, 36, 144
() ‘B
(2) 86
3) 94
(4) 100
Options :
1. %1
2. % 2 \
3.% 3 &‘\Q
&
4.4 4 Q

&
S

Question Number : 38 Question Id : 78567@%3 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Qu Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum I ’tﬁlction Time: 0

Correct Marks : 1 Wrong Marh&’&
Problem Solving

__..,»lbf_-,uw

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0P ol st it LKL 3645 1
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250,166%,125.100,83%, _62§
712
(1) 715
732
) 733
752
(3) 3
762
4 765
Options :
1.4 1

Q
2. % 2 N\
Q‘Z)
3.% 3 Q‘b"
O
4. % 4 o\Q
&
Question Number : 39 Question Id :.)és 43784 Question Type : MCQ Option Shuffling : No

Display Question Number : Ye estion Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minirﬁ%\lnstruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h.-')w/:-wulf

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2

https://previouspaper.in/



https://previouspaper.in/

0. 6. 24. 60. 120. 210, . 504, 720
(1) 280
(2) 292
(3) 336
4 372
Options :
1. % 1
2. % 2

o
3.v3 Q’)&
N

% O
4. % 4 &Q
.\Q

Question Number : 40 Question Id : 7856 @)&5 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Q A@n Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum ruction Time : 0

Correct Marks : 1 Wrong Ma(&?éO

Problem Solving

__..,»lbf_-,uw

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

s 0PN ol st i i LKL 23645 19
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9.23,49, 121, 169, , 361

(1) 289

2) 194

(3) 285

(4) 296
Options :
1.9 1

o\Q\
2. % 2 .&.
&
3.% 3 ‘b.Q
R
4, % 4 . 00
N

&
Question Number : 41 Question Id : \3@/43786 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes I estion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Mini truction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-}Lb’_".«mf

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0 ol st it LKL 23645 19

https://previouspaper.in/



https://previouspaper.in/
5 3 -2 —11 -9 -25
T F YT a7

W -13
@ -

7
® 15
(4) -18

Options : '\’Q\

1. % 1 ,&

2.¢2 O
Q
3.% 3 A\

Question Number : 42 Question Id : 7856743787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h.-')w/:-wulf

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2
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2187, —729, 243, —81, ,—9,3,—-1

(1) 36

(2) 27

(3) -36

(4) =27
Options :
1. % 1
2.¥ 2 . \

&
3.% 3
«z&

4, % 4 Q

Question Number : 43 Question Id : 78@ 88 Question Type : MCQ Option Shuffling : No
t

Display Question Number : Yes Is Q n Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A M|n|mur@ruct|on Time:0

Correct Marks : 1 Wrong Ma}% 0
Problem Solving

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

_J/'/ffur*’db)/m;;.;f &y nﬁbJK_ﬂ/J36 45 :04
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6. 24. 60. 120. 210. . 504, 720
(1) 294
(2) 316
(3) 320
(4) 336
Options :
1. % 1
2. % 2

3.%3 ®
S

Question Number : 44 Question Id : 785674@9}uestion Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Ques&%\nandatory : No Calculator : None Response Time

4.¥ 4

:N.A Think Time : N.A Minimum Inst ion Time:0

Correct Marks : 1 Wrong Marlgs\g‘\@%
Problem Solving Q

h.-')w/:-wulf

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U S o it i it LKL 1 36-45 2
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34151235 6240
Patet gty gy ' 65”11
24
(1) =
31
(2) 32
2
B =
56
(4) s7
Options:

1.1 \’Q\

2. % 2 (&é
3. % 3 S’.)Q

4. % 4 Q\

Question Number : 45 Question ?@56743790 Question Type : MCQ Option Shuffling : No
u

Display Question Number : estion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-}Lb’_".«mf

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0 ol st it LKL 23645 19
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3,7 119,35, ;131,259,313
(1) 67
(2) 82
(3) 96
(4) 120
Options :

1.4 1

2. % 2 ‘\Q\
Q}.

N

3.% 3 (b"
)
Sub-Section Number : Q)A\ 5
Sub-Section Id : ‘\\Q 785674419
Question Shuffling Allowed : %‘ No

Is Section Default? : ”\\’.Q null

Question Id : 7856743791 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (46 to 48)
Problem Solving

h.-'}m/.:-f”lf

(b) Data Analysis
:‘)?dﬂf i (b)
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The graph below shows the exports of a metal by a company in the months

January to June (in thousand tons). Based on the information answer the
questions 46 to 48,

48046 ey an i 2ee (s Sexports i Bl Lo
elizl ey

120

110
110

100
100

? %0 %0 '\’Q\

70 00’

Q\
60 &%
lanawary Febeuary March @.;\\Q Iay June
%0
R
Sub questions \Q

Question Number : 46 Question Id : 7856743792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(b) Data Analysis
r_:‘/"d Ay - (b)
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The percentage increase in the exports in the month of May over the month of
January 1s

-l Aol exports 5ol ‘e LS 52

Options: Q}
N

QO
1. % 1 &Q
2.¥ 2 Q‘\Q
3. % 3 \Q\Q’
4 % 4 CO\

&
Question Number : 47 Question Id : 7856743793 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h.-')w/:-wulf

(b) Data Analysis
:‘fﬁd Ay - (b)
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The percentage of decrease m exports in March compared to the February month
18

-;,JEJJL}%’:CXD{}FTSU: BASL G LS

(4 ®

Options : R .Q\

N\

1. % 1 QJ
N

22 N
3. %3 Q\

Question Number : 48 Questi : 7856743794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__..,»lbf_-,uw

(b) Data Analysis
:'/:Lf Ay - (b)
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The average exports per month ( i thousand tons) in the given period 1s

_ﬁz.r}fu::.-ﬁfipﬁ'&;J..{:LaLL}:.«!.J,:‘CXp(]ITSle

(1) 90
(2) 108
(3) 30

@ 2

Options :

1.¥1 \’Q\
Q}.
N

2.8 2

QO
3. % 3 Q?JQ

X0

4. % 4 Q,A\
Sub-Section Number : & 6
Sub-Section Id : Q%‘ 785674420
Question Shuffling AIIowed'\é’\.\’ No
Is Section Default? : null

Question Id : 7856743795 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)
Problem Solving

,,)lb*:,U|r

(b) Data Analysis

:‘)-;Lfi"f' i (b)
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The budget allocation of a civic corporation in a year under 5 major heads A. B.

C.D and E are depicted m the Pie chart. Based on the data answer the questions
49 to 51.

JA, B, C;.L.x_j;u..‘;ﬂ:ﬁlﬁallocati{m:@J;;KJ;_:*'..QUC;T;;?SLJH{(
Gl 751049 el i L%L’Clr’/ﬁw A \_J':Jklr DulE-

F

O
R

"A? =B 60" «C 62" =D ?iQ:&»
S

*

*

R
A\,

Sub questions

Question Number : 49 Question Id : 7856743796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

E-—#";Wf

(b) Data Analysis
<7y - (b)
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If the budget allocation under D 1s Rs.130 crores, what 1s the total budget of the
corporation (in crores of rupees) ?

-s/l'#’-.;."b@:ﬁ‘fKﬁ;g;K.a‘-,u.,_,:,ds)’lSU;LILfcﬁf"'iDufﬁ:JJ.:é

(1) 1250

(2) 1000

(3) 900

(4) 750
Options : \
1. % 1 .&‘,\Q

&

2. % 2 Q

3.% 3 00
4.9 4 ,&Q,

Question Number : 50 Questio@856743797 Question Type : MCQ Option Shuffling : No
Display Question Number :\é»\fs Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(b) Data Analysis
:;Lf Ay - (b)
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Out of the total budget what 1s the pewentage of the Buﬁgetp eﬂ(ﬁ:ate{l to the heads
B and E together?

_g_g,alﬁpfddﬁﬁiﬁiifl}t;;a ExsByass 2

(1) 7
379
2) 4
365
2
G) 35—
9
(4) 1
345

Options : Q}’
1.9 1

SR
2. % 2 <
3.% 3

4, % 4

Question Number : 51 Question Id : 7856743798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(b) Data Analysis
r_:‘fﬁlj Ay - (b)
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Which head receives . of the total budget?

L
-g.yi:,ﬁﬁnf-.w?; FrE

(1) B
2) A
(3) €
4 D
Options :

1. %1 ‘\Q\

2.¥ 2 QQ}‘

QO
3. % 3 &Q
Q

4. % 4 Q\

<
Sub-Section Number : \Q 7
Sub-Section Id : %\ 785674421
Question Shuffling Allowed \6\.’& No
Is Section Default? : null

Question Id : 7856743799 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)
Problem Solving

(b) Data Analysis
:‘/‘-;Lfﬁ'f" (b)
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In the Venn-diagram the sets U. A. B and C are defined as follows:

U
T e T
B/ x A
/D I,.f g\ E )
= {x|x 1s a natural number and x < 30} L-\ Fav j\ |
i h, / b H /
A= {x|x€eUandx isodd } NJLAD L
= {x|x € Uand x 15 even } \f P
3 ! , b /
C = {x|x € U and x is multiple of 3 } e

Based on this data answer the questions 52 to 55

_,_f,ggg,lwi‘dj.,ﬁfﬂ;slU A, BerytVenn-diagram L
= {x|x- a,mdy < 30

@ Ul .6 )b

(%Q x|x € Unixsiocs

Q\ xlx € U;}!x:ﬁp‘“”ﬁ
U}?LSSVSZ;‘.-UU’LJJJ)WJ |

N

e
Sub questions &\Q
N\

Question Number : 52 Question Id : 7856743800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(b) Data Analysis
r_:‘/ﬁd Ay - (b)
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In the Venn diagram which are the null sets ?

g : P
- null setsgxVenn dlagralni’;;;

(1) Gonly

(2) Tonly

(3) GuUJonly

(4) GUIJUEF only

Options :
Q
1. % 1 \.
%
2. % 2 Q

3. % 3 00
4.9 4 .&Q)

Question Number : 53 Questi @: 856743801 Question Type : MCQ Option Shuffling : No
Display Question Number :le Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__..,»lbf_-,uw

(b) Data Analysis
:'/:Lf Ay - (b)
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Which of the following sets have equal number of elements ?

- L‘-’"&:fﬁl:fdjbqui‘-!(;.uﬁ'ufiff"

(1) LH
(2) D.H
3} LE
4) EF
Options :

1.941 Q}
N

(o)
2. % 2 &Q
3.% 3 Q‘\O
4. % 4 '&Q’

Question Number : 54 Questiq@: 7856743802 Question Type : MCQ Option Shuffling : No
Display Question Number :\\(%Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

,,)lb*:,U|r

(b) Data Analysis
:‘f-ﬁdi"f" i (b)
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If n(X) denotes the number of elements in the set X, then n(DUEUF) =

n(DUEUF) z,}‘.ci-d‘ﬁﬁ;!ﬁﬁfﬁbfi’;_.;uﬂ(w ‘n (X).fi

(1) 10
2) 20
(3y 23
4) 30

Options : ’\Q\

<
1. % 1 Q)
2.¢2 &Q&
3.% 3 A‘\Q
4. % 4 &Q)
N

Question Number : 55 Questioé&: 7856743803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-}Lb’_".«mf

(b) Data Analysis
;:‘/ﬁd Ay - (b)
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If n(X) denotes the number of elements in X, then n(U —(Auc )) =

(U~ (AU C)) =derf bl L st X n(X) /)

2) 5§

3) 10

4) 15
Options :

1. % 1 ‘\Q\
2. % 2 Q}‘
N

QO
3.¥ 3 QGDQ
4. % 4 Q)Q\O
Sub-Section Number : \Q 8
Sub-Section Id : é\ 785674422
Question Shuffling Allowed \6\,’& No
Is Section Default? : null

Question Id : 7856743804 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)
Problem Solving

(c) Coding and Decoding Problems

::U!}’jj!rdjjﬂjj!(- (c)
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The letters of English alphabet are coded as follows:
(1)  First 13 letters A, B, C. D, ... . M are to be coded respectively to M, L.
K. 7. .... A (inreverse order).
(1) Remaming 13 letters N, O, P. Q. ... . Z are to be coded respectively to
Z.Y,X, W, ....N (in reverse order ) .
(1) For decoding the reverse process has to be followed.

Based on this data answer the questions 56 to 60.

LEL p b s Lk

(£2ZEDM, LK, J, .., A/A, B,C,D, ., Mii713& (i)

Z,Y,X,W,..N/N,0,P,Q,..,Zos 138 Gi)

LU 3 )’iﬁ-‘FiLDCCU(éiHQ\(iii)

ﬂmgmiﬁjﬂtﬁ(mm%&%u
AN
\\)c,Q
Sub questions ’\0
.&Q)

Question Number : 56 Question Id -9}5%43805 Question Type : MCQ Option Shuffling : No

Display Question Number : Y uestion Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minirr}&\ Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

;U!fjffdhfljﬁf- (c)
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What 1s the code for MARKETING?

< WEMARKETING
(1) AMVCITEZG
(2) ANWDIUCZG
(3) AMUCITBYG
(4) ARXEISCVG

Options:

1.1 Q}
2. % 2 C:;Q

3. %3 0\0
4. % 4 &QJ

Question Number : 57 Questiq@: 7856743806 Question Type : MCQ Option Shuffling : No
Display Question Number :le Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

;U!fjffdfwlfhr- (c)

https://previouspaper.in/



https://previouspaper.in/

What 1s the code for word CONSUMER ?

<42 LCONSUMERSS

(1) KZYVTSBE
(2) KYZUSAIV
(3) KXUZTBVI
(4) KUZXBVTE

Options :
pt \Q\
1. % 1 Q}
2.9 2 Q‘b‘Q
>

3.% 3 QO

Q\
4. % 4 '&Q)

Question Number : 58 Questiq@. 7856743807 Question Type : MCQ Option Shuffling : No
Display Question Number :le Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

::U!}’jj!rdj.iﬂjj!(- (c)
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What 1s the code word for BUSINESS ?

<32 LBUSINESS

(1) MTWDAIXX
(2) LSVEZIVV
(3) LSUEZIUU
4) MTVDAIYY

Options : ‘\‘Q\

1. % 1 Q
2. % 2 COQ%

3.v 3 )
4. % 4 \\Q

Question Number : 59 Ques@d : 7856743808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

,,Ab*:,U|r

(¢) Coding and Decoding Problems

;U!fjfzrdbzlfif- (c)
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What are the letters that remained unchanggﬁ (f@ft HIVATLAnt) afiel the coding?

-Lﬁu:'; Sz Mﬁfi;&uﬁ_‘}f Py

(1) AZ
2) MN
3) LW
@ TG
Options :

1. % 1 \’Q\
Q'}’
2. % 2
N
3. % 3 &Q
.\Q

<
Q

Question Number : 60 Question 1@56743809 Question Type : MCQ Option Shuffling : No

4.4 4

Display Question Number : Yeﬁw uestion Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minin& Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

::U!}’jj!rdj.iﬂjj!(- (c)
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Which word is coded as THUMHE ?

W LTHUMHE B E S

(1) TEFASIF
(2) TFASIA
(3) TESAF]
(4) TESAFI

Options : . .Q\
1. % 1 Qé

O
2. % 2 QGDQ
3. % 3 A’\O

&

4. 4 \\Q
Sub-Section Number : Q%‘ 9
Sub-Section Id : ”\& 785674423
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 7856743810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

https://previoué‘p1";\!|5’e"|'.1;r1'}"r iz 3 ()



If VIRUS is coded as UHQTR then tllerzztt(%:/tl 1‘rﬁm§‘§p1?per'in/

Kl IMASKIZ bYeode 2 ZUHQTRSVIRUS/

(1) LZRJ
(2) LRZ]
(3) LIRZ
(4) LZR

Options : N \
N
1.v1 <

2. % 2 c_’,Q

3. %3 A‘\Q
4. % 4 \Q\Q’
&
Question Number : 62 Questj : 7856743811 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__..,»lbf_-,uw

(¢) Coding and Decoding Problems

:,U!rjjzrdbslfi:(- (c)
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The PINK is coded as JQLO then BLUE 1s coded as

LUy BLUEIZ b3 JQLO/PINK/)

(1) XNUE

(2) XNEU

(3) XUNE

(4) XEUN
Options :
1. % 1 \
2.¥ 2 »

S
3.% 3 (b‘Q
R
4. % 4 .
W
(Z)
Question Number : 63 Question Id :}%&43812 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes estion Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimé"\nstruction Time:O0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

,,Ab*:,U|r

(¢) Coding and Decoding Problems

;U!fjfzrdbzlfif- (c)
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In a code language if TRAIN is coded as MBHOrGUIQHBPAREF- Weoded in that
language as

K3 PLACEIZ b3 UQBHOSTRAINI2 S f3f

1) QKBAD
2) OMBDF
3) OKAZH
4) QKBBF

A S pe—"

Options:

1. % 1 \’Q\

2. % 2 QQ}‘
o)
3. %3 &Q
QO
4.9 4 Q\

Question Number : 64 Question ?%56743813 Question Type : MCQ Option Shuffling : No
u

Display Question Number :@

: N.A Think Time : N.A Minimum Instruction Time: 0

estion Mandatory : No Calculator : None Response Time

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

::U!}’jj!rdj.iﬂjj!(- (c)
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REJECTION 1is coded as SGMIHZPWW then in the same code language the

word MECHANIC 1s coded as

b3 YMECHANIC b iU b3 SGMIHZPWWSREJECTION/

£
(I) NGFLFTPK
(2) NGPLFTPK
(3) NGFKFTPK
(4) NGPTPKIL

Options :

1.1 Q}
2. % 2 c_',Q

3.3 '\0

4, % 4

Question Number : 65 Ques{&"&: 7856743814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(c) Coding and Decoding Problems

;U!fjffdhfljﬁf- (c)
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If SWEDEN is coded as 123435 and GINRTY 0" &MIO4 508854 ihen the code
for ENGLAND 15

WUYENGLANDIZ bU3/67854/GLAND 2 bl/3/123435/SWEDEN/)

Kbl
(1) 3567854
(2) 1267854
(3) 3267854
(4) 1367854
Q
S
Options : (&
1.4 1 Q?DQ
.\0
2. % 2 Q,A
\
3. %3 \\Q
4. % 4 Q%‘
| &
Sub-Section Number : 10
Sub-Section Id : 785674424
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 66 Question Id : 7856743815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-)w’.*uuly‘
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(d) Date. Time and Arrangement Prolguig, reviouspaper.in/
2y 3y G- (d)

Which day falls on 18™ Au gust 20227

KT942022: 418"
() Thursday )
2) Tuesday JEL
©) Wednesday SN
) Friday >

Options : QQ}
1.91
S

. N
2. % 2 ,&Q,A
3. % 3 \\Q
4.% 4 )

K
N\

Question Number : 67 Question Id : 7856743816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

,,Ab*:,U|r

(d) Date, Time and Arrangement Problems

elivyess G- (d)
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What 1s the angle between the hour hand and minute hand m the wall clock when

the time shown 1n the clock 15 8.25 am?
- # d i - r i I TR .'"J
Une»8.25 Lfy;u:um’u f?.-;‘:.t'll:u/d.l(J}L.Mjslgufu,""fﬂ:‘;::bw ”

(1) 98°
2) 100.5°
3) 102.5°
4 115°

Options :

N
1. % 1 Q(&Q)
. &)
2. % 2 00

4’\
3.3 &Q)

4. % 4 .\\Q
S

Question Number : 68 Ques& Id : 7856743817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-)w’:aﬂlr

(d) Date, Time and Arrangement Problems

el i G- (d)
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The time between 9 O'clock and 10 O’clock at which both hands of a clock are

together 1s

SULn ALK IS A E 1004290

1 ;
49 Emin.past 90 clock
' 1
£90 e 49—
: 5 11
48 Hmin.past 90 clock

£90 i 48%.
(3) 50 min.past 9 0'clock
£90 250 \
(4) 45min.ast9 0 clock . ®
£90 o435 A\

Options: ‘\0
1.1
2. % 2
3.% 3

4, % 4

Question Number : 69 Question Id : 7856743818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(d) Date. Time and Arrangement Problems

=Wy eds G- (d)
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https://previouspaper.in/
If X 1s mother of Y. Y 1s father of Z and P 15 a sister of Z. then P 1s related to X as

e LKA X Pt KL Y e MY X1

1) Grand mother

)

) Grand daughter
) Niece
)

4) Maternal aunt

(
(
(3
(

Options :

1.8 1

2.¥2 \’Q\

3.% 3 %Q%Q

4, % 4
A\
Question Number : 70 Question Id : § 3819 Question Type : MCQ Option Shuffling : No
ti

Display Question Number : Yes Is stion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minim truction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(d) Date. Time and Arrangement Problems

elivyEss G- (d)
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Rita comes to Railway station at 10.20 am find fds that Soe 1s 40 minutes early.
But the tramn 1s runmng 20 minutes late. What is the right schedule time of
arrival of the train?
,.-;’r.».:'-.’zouy----i;u!#;y40 ”ﬂ'r‘;-’df J/,:A!;.dl&.u;_i,I(}Q(])Jrl;:},;b
-ﬁ:.yfcjaféuwiw}-r‘;ﬁ;

(1) 10.50 am

(2) 1040 am

(3) 10.35am

(4) 10.30 am
Options : \
1. %1 ,\Q

D

2.9 2 Q

3. % 3 00
4. % 4 ,&Q)

Question Number : 71 Questi Q 7856743820 Question Type : MCQ Option Shuffling : No
Display Question Number :le Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-)w’:aﬂlr

(d) Date, Time and Arrangement Problems

el ads G- (d)
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A person starts from the point P at 9.20 am and travelling with a speed of 45

kmph, he reaches the point Q at 10.40 am. Had he travelled with a speed of 75
kmph instead of 45 kmph, the time of arrival at the point Q 1s

£10.40 46Que 8/ 1e A 258 1 EA5 e Pt 1769207 L)
KB L Ve F e din§ K57 K150 L G

(1) 9.56 am

(2) 10.12 am

)

)
(3) 10.08 am
(4) 10.00 am

Options :

1. % 1 Q}

2. % 2
S
3.3 .Q

4. % 4 &QJ

Question Number : 72 Questic@: 7856743821 Question Type : MCQ Option Shuffling : No
Display Question Number :\\(%Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-)w":aﬂlr

(d) Date, Time and Arrangement Problems

elyeds G- (d)
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Six members of a family A. B, C.D. E aucf Eate sitting htound a table all facing

the centre of the table such that

(1) A 1s directly opposite of B and to the immediate right of C
(1) Eisnotnextfo Aor F

(111) B 1s to the immediate left of F and immediate right of E;
(iv) D 15 between A and B:

What the order of their seating arrangement starting from A to the right?

_.:‘:J'ﬁgfif S8 fJiF A, B, C, D, ESA6L ik
-9rﬁ4@u”gﬁgit‘jsl$téfjwﬂg58 ‘A ()
b WEF SACE (i)
3y uLEmmJL»_Fﬂ (ii1)

-LJV)‘Z-BNQ@ v
K

ABCDEF
ACBFED 4\00

ACTDEB

ACEBED ‘\\Q

Options:
1. % 1
2. % 2

3. 3

4.4 4

Question Number : 73 Question Id : 7856743822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
https://previouspaper.in/



Problem Solving https://previouspaper.in/

__..,»lbf_-,uw

(d) Date, Time and Arrangement Problems

elivess G- (d)

b
Let a, b be any two real numbers. Ifa * b = a® + b,adb = zﬂ’ then

(3 4) « (442) =

(3+4)+ (4A2) =—a+b=a’+b*adb =

i - i
b-u.’?!'ﬁ'dﬁy wba i/ S/

a
a+

(1) 508
- Q
Q) 307 N
5 Q«z&
(3) 208 3P
3 A’\Q
@ s 2
3 \\Q
N
Options : ”\S
1.4 1
2. % 2
3.% 3
4. % 4

Question Number : 74 Question Id : 7856743823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

https://previouspaper.in/
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__..,»lbf_-,uw

(d) Date, Time and Arrangement Problems

elivess G- (d)

If® and@aredeﬁnedbyp@q:\/ﬁ+% andp () q= \/ﬁ—%
V

p@qzﬁ—#’p@qz\/ﬁ+ﬁ®m®ﬁ

(1) 30
@ 1
30
() V30 \Q\
@ 1 QQ}
/30 &

R\Y
&

Options : ‘\\Q

v &

AN

2. % 2

3.% 3

4. % 4

Question Number : 75 Question Id : 7856743824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__..,»lbf_-,uw

https://previouspaper.in/
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el ads G- (d)

For positive integers m,n. defmem @ n=2m+ 3n+ 1 and

mOn=minthen 3Q2)O(“4®1) =

“m@On= mn‘m®n=2m+3n+1s /Jm, n ‘¢ integersed i

1) 1356
2) 2028
3) 1014
4) 1756

Options:
1. %1
2.9 2
3. % 3

4. % 4

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

B3020(#®1)=

Mathematical Ability

78567456
2

Online
Mandatory

75

Number of Questions to be attemptﬁtﬂ)ﬁ'//previouspagér in/



Section Marks : https://previouspagér.in/

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 785674425
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 76 Question Id : 7856743825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 \
I Arithmetical Ability QQJ

\
o A = . wo_ A
Ifa* = b = c* and abc = 1. then; = @

*

%‘:gax = b¥ = ¢t yabe = 1./
N
A\

(1) 4
2 1
4
3) -4
@ -1
4
Options :
1. % 1
2. % 2

https://previouspaper.in/
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Question Number : 77 Question Id : 7856743826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

=il 1

-

If 275 =958 =37 -then 2x-t- 3y =

27}:4-1 - 91‘+3 — 3y#2x’¢‘§:jﬁ|

L 4

(1) 30 X

3) 36 %\\Q
4) 39 Q
Q

Options:
1. % 1

2.¥ 2

Question Number : 78 Question Id : 7856743827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
https://previouspaper.in/



Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/
L. Arithmetical Ability

ERL |
Ifa:b=2:3 andb:c=4:5, then(a+b):(b+c¢)=

(a+b):(b+c)==a:b=2 :3sb:c=4:5/

Options : CDQQ}'

1.1 ‘

2. % 2 Q)
N

3. % 3 %.

R
4. % 4 \6\'

Question Number : 79 Question Id : 7856743828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Al 1
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A vessel contains 100 litres of mixture of two liquids A and B in the ratio
3 : 1. How many litres of the liquid B is to be added to the vessel to make the

rattoof A:Bas1:3?

S vessel S1e 80 JB-;.} e UBAIA el ol 2100 fvessel
L1 : 3P 0A  BALWE

(1) 200
(2y 175
3) 150
(4) 100

Options: Q}
R
1.41 c_',Q

2. % 2 '\

3. % 3 &Q)A
W&

4, % 4 %‘

&
Question Number : 80 Question Id : 7856743829 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

ERL |
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Ifx = 3y3 +26. then x2 + 1,_12 =

x=3ﬁ+m,ﬁx2+%:f|

(1) 106

2) 33

(3) 108

4) 352
Options :

Q
1.1 N
D
2. % 2 <:§?§;2
3. % 3 ‘0&
Q\

4, % 4 {igb

Question Number : 81 Questio@856743830 Question Type : MCQ Option Shuffling : No
Display Question Number :\Q s Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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J9+2\/E—4\/§—4\/§ =

(1) V3++42-2
2) V3-v2-2
(G) V34242
@ V3-V2+2

Options:

1.1 \
.\Q
2. % 2 L
QQ)
3. % 3 Q(b"
O
4, % 4 .
O

&

Question Number : 82 Question Id :.)%S 43831 Question Type : MCQ Option Shuffling : No

Display Question Number : Yeg@estion Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minirh@'lnstruction Time: 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

https://previouspaper.in/
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The remainder when 22 is divided by 7 is

T < 7427 ¢ remainder/1

_— — — —
T, [ [T R —

Options :

1.8 1 '\Q\

2.¥2 (&Q}
3.% 3 &Q

Question Number : 83 Question Id%-7/856743832 Question Type : MCQ Option Shuffling : No
Display Question Number : Y uestion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

https://previouspaper.in/
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The number of all 4-digit numbers divisible by either 12 or 15 1s

~Jtln ’ujﬁjgfﬁ';.wi 122361 1syy 24

(1) 1350
2) 1300
(3) 1250
(4) 1200
Options:

1. % 1 &.‘\Q\

2. % 2 &
N

3.% 3 &Q

Q)‘\O

Q

Question Number : 84 Question 1@56743833 Question Type : MCQ Option Shuffling : No

4.9 4

Display Question Number : Ye@uestion Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minim Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. ArithmeticalAbility

Al 1
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If the sum of two positive mtegers. each greater than 37 15 296 and if their
GCD 1s 37, then their difference 1s

-LL},’L-J/L)' '!r.‘-37u 'J‘|¢‘:..296.5“ e 37 ;/KIHCECFHM}J}I

(1
(2) 81
3) 74
4) 64
Options :

1. %1 ‘\Q\

2. % 2 (&

3.3 G:DQ

4. % 4 Q)A\

Question Number : 85 Question 56743834 Question Type : MCQ Option Shuffling : No
Display Question Number :Y uestion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

https://previouspaper.in/
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The smallest number to be subtracted from 3000 so that the resulting number
1s divisible by 7, 11, and 13 15

_ci,t'ﬁ(‘:‘b S 134117 ‘g:"ﬂhi.ﬁ,tt_fJ;L%L-(Q”:JOOUK,*JW{L&

(1) 998
2) 975
(3) 963
(4) 875

Options : X Q\
1.9 1 Q%\
2. %2 c_',Q(b.

3. % 3 A\
4. % 4 \Q\Q’
Question Number : 86 Questi : 7856743835 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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Options : GDQ
1.4 1 Q\

2. % 2 ‘\\Q

3.% 3 ’

K
N\

4. % 4

Question Number : 87 Question Id : 7856743836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

=il 1
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(2)

8
9

13

9

(3) 14

9

@ 17

9

Options:
P \Q\
1% 1 L
&
2. % 2 Q)Q
\\5&
3.3 .0
Q\
4. % 4 &QJ

Question Number : 88 Questio@: 7856743837 Question Type : MCQ Option Shuffling : No
Display Question Number :\\(%Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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Ascending order of a = ﬁ,b = E c=tandd=2
25 15 32 45
J’u K}IﬁlLbLﬁf ]
B B B, 8
=50 P7n g 155
(1) c¢dba
2) b,adc
(3) ab,dc
4) cadb
Options : \.\
%)
1. % 1 Q

2. % 2 00

3.¢3 .&Q)
4. % 4 ‘\\Q

*

&
Question Number : 89 Question Id : 7856743838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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The largest among the following rational numbers 13

e bstsuly e oo iduitational f

8 5 9 7

13'12°1115
5

I =

()12
7

G 1

('15

(3} -

9
@ o QQ}

Options :
LAY
1. % 1 Q\O
&
2. % 2 %\\Q
3.% 3 ’@
4. ¥ 4 \Q

Question Number : 90 Question Id : 7856743839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Al 1
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In a fraction, if the numerator 1s increased by 20% and the denominator 1s
decreased by 20%., then the percentage by which the fraction increased 1s

T b/ 4 #£20% /denominator ALy £20% fmumerator S12 £

-ﬁ;.fﬁjulu:/’ﬁ.u'eﬁ;gdﬁm.‘;

(1) 24

2) 30

3) 4

4) 50 \
Options : Q}‘.\Q
1. % 1 Q

2. % 2 00

3. % 3 ,&Q,
4. 4 \\Q

N
Question Number : 91 Question Id : 7856743840 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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The present population of a city 1s 1452000. It is increased by 10% each year

in the last 2 years and by 20% in the last third year. Then the increase in

population of the city during the last three years was

ST e U2 ::l‘f.;;_rﬁJu!KA 10% ijfu:uri;, 1452000 JJ_LTMJ?J-"J/;‘.Q
e ST AT O3 2T 2 e b S0% o
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A real estate agent sold two properties A and B each for Rs.391 lakhs. On the
first deal A he makes a profit if 15% and on the other B a loss of 15%. What
is the final outcome of this transaction?

uf;é:/'#’__;-f‘;.l:'/ =3930 81391 /B sIA UsixlbUsssagenttreal estate ]

e bl F R bndSK15% Bl st ol 4 15%5 A

() Profit of 5% Cf K5%
(@) Loss of 5% ULFE5%
) Tossof225%  Aa2.25% ) Q\

Profit of 2.25%  { ¥2.25%
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When the prices of onions were reduced by 20%, a person could buy 10 kgs
more for Rs.1000. What was the original price of onions per kg?(in rupees)

S ieatat Uz 10006410 N L nd $20% 0 S
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Two persons P and Q started a business with mvestments in the ratio 4 : 5
respectively. After 10 months. Q left the business. After 5 more months P
left the business and R joined it by mvesting Rs.64000 more than P’s
mvestment. If at the end of 20 months. the respective ratio between the profit
share of P fo that of Q and R together is 2 : 3. then the investment of P and Q
together ( in Rupees ) 1s

Pocttodia AskQu LU 10t bt 4 - SEK A A KLIQP
S8 SP 264000 6K A SR Bl A MR sty As il 2§
LQuP e (nl s 3pbnl R QuP s n L yir'20 /e dnstic
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P. Q. R started a business with investments in the ratio 5 : 4 : 6. After 6
months P added 20% more than the initial mvestment and at the same time R
withdrew half of the initial mvestment. If the profit share of Q 1s Rs.11400,
then the profit at the end of the year (in rupees) 1s

S0 mh20% Pl y 6.2 St ptus S5 4 6 45K LP, Q, R
,ﬁufé,‘-; KQ fl-q,CJ,Ludlm.Mwﬁ,L /&R LE}L.{IJ}|-CE-V/(L£JEI,:»L/'M£}L? y
KB g? L1 1400
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Two pipes A and B independently can fill a cistern in 6 hours and 8 hours
respectively. If both A and B are opened together, thenthe time 1t takes to fill

the cistern completelyis
A LA IS 1L A AR w65 cistern Ly 5 BAA L
Kb LE Auydciste ML bJ¥

(1) & 4%110111‘5
(2) 4% hours
14
¥, E o
(3) & 3 hours
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Pipes A and B can fill a tank in 20 min. and 30 min. respectively. A drain
pipe C can empty the full tank in 15 min.  Pipes A. B and C are opened
alternatively each for 1 minute in that order. The time (in minutes) taken to
fill the tank 1s

Jeur 15 C ALt A e 30 st 20/ 8 LB A A
U&F_gﬁykﬁdﬁfaﬁjéwuggf)ﬁ:f..'_fl,f(f AB ‘A .F.P';-r.;;t'// dw’j;m
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Q}.
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Two trains A and B start from a station P at 8 am and 10 am and trave] at
speeds of 50 kmph and 70 kmph respectively. After how many kilo meters
from P will they meet ?

P ot F e a8 2570 2550 G E 10 4E8 < 1LBAA UK
_u[}fﬁl L,f.fu:.:liukjfug,u! o $&e
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A boat can cover 54 km in still water in 6 hours. It can cover 210 km
upstream and the same distance in down stream in a total of 48 hours. Then
the difference of times taken by the boat to cover 72 km upstream and to cover
63 km down stream (in hours) 1s

eSS e e 1 K10 e LS L ol 2 K52 s 6]
cr L LS M 1T (LTt s Sy L UsE B8 i)
et iy K HOILLLSE Sinst e Sy
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Three workers A. B and C can together complete a work in 10 days. After
working together for 4 days A leaves and B and C complete the work in 10
more days. If A works alone. how many days will he take to complete the
work?

(KA LSS Sush S LUI10 LSS B Ay S
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A certamn number of women can complete a piece of work m 70 days. If there
werel2 women more, the work could be fimished in 15 days less. Then the
number of women originally there 1s

Lo Ui S LUt N 2SS i T0 KL
e pbf s b
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A circular park 1s of 60 m in diameter. A three meter wide walking track 1
prepared around and outside its perimeter. What 1s the area of the track
(in sq. m.)

- A I ALK 43 Lle 760 diameter scircular park

Kl Jtrack
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The length of one diagonal of a thombus 1s 80 cm and its side 1s 41 cm. What
1s the Iength (in cm) of the other diagonal ?

_l_AULJJ/ dia gnnalf;f‘:.ﬁigf 41/ L] 5180 cnﬂlﬁdﬁiﬂ gonal Zrhombus ]
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A rectangular sheet of metal of dimensions of 12m x 6 m is rolled to form a
cylinder with larger side as its base. The volume of the cylinder in cu.m. is

o foum A€ Y e fUe b (2 L3 b5 (K7 12m x 6 m
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If the surface area of a sphere is 5544 cm’. Then the volume of the sphere in
cubic centumetres 1s (take 1 =22/7)

(1 = 22/7)Klf Jicu.cm Aésphereyicroe 5544.}';5’5 ¢sphere {1/}
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A room has a square base and 1s of height 4 meters. If the area of the four
walls 15 128 sq. m.. then the number of square tiles of side one meter required
to cover the floor 13

Ao L9128 sq. m Muulg:unlgfi.;.ufﬁﬂf ijdlﬂ;usquarc Fy8(
# " Aovo o .
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A tent in the shape of a cone 1s to be erected having a base of 154 sq.m and a
height of 24 m.The cost of the canvas required at the rate of Rs.1000 per sq.m.
to make the tent (in rupees) is

J:ﬁl&fcanvas-ﬂ;m m JEJJUWJJIJ.,@IM sq.m & L2 ttent ‘Veone k]
_(Jﬁg@fu.ﬁu):ﬁl Stentireg, #1000 per sq.m
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A solid metal sphere of 12 cm diameter 1s melted and cast mto a cylindrical
wire of diameter 4 mm. Then the length of the wire (in meters) 1s
4 mm cylindrical {f/uetble§H 512 em 2/sphere L A L]
S At e P i
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Let A and B denote the followmg bmary numbers.
A=10011011, and B = 111011,

Then the decimal equivalent of A+ B =

Vdecimal equivalent¥A+B = — A=10011011,,B = 111011,
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If245 =k (mod 13) . thenk =

k=-2245 = k (mod 13)/)
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If a set has 7 elements. then the number of subsets of A with atleast 2
elements 1s

. - " " #
el Lelements =2 subsetsL A nelements 7y besLl/ |
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Let A and B be any two sets with m and » elements. If A has 192 more
subsets. than B. then m +n=

# - L -~ ?‘5
m+n=Jynarii192EA) LuxBAALY Uil elements “nsm/
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If a and B are the zeros of the quadratic polynomial

x> — 7x + 12, then (o + B?)(a — B) =
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If x - Lo 5, thenx* + —=

X
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1 1 #
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X X

1) 727
Q) 627
3) 527
@ 427

Options : ‘ Q\

1.¥1

2. % 2 0
3. %3 A\O

4. %4 \\Q
&&Q%

Question Number : 115 Que?%n Id : 7856743864 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
II. Algebraic and Geometrical Ability

=G P b AL

https://previouspaper.in/



https://previouspaper.in/

If the polynomial 2x> + 3% + ax + b when divided by (x — 2) and
(x 4 2) leaves the remainders 2 and -2 respectively, then (a,b) =

thg-ﬂ{yr_(x +2) “(x—2) /2x% + 3x* 4 ax + b polynomial 1
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If the remainders of the polynomial f(x) when divided by (x — 1) and

(x—2) are 2 and 3 respectively. then the remainder when f(x) is divided by
(x—-1)(x—2)1s

A2 (x— 2)si(x — 1) 42/, ﬂﬂ I J1S2f(x) ¢ remaindersépolynomial L

ln(x — 1) (x — 2)7bls/ % SE(x) remainder—. iz A3
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A rational number 1s such that when we multiply the numerator by 2 and
added 2 to the denomunator it becomes 3 moreover. if we add 9 to the

: . : 3 .
numerator and multiply the denominator by 3 it becomes . Then that rational
number 13

1 " o i L) ¥ = F i : s
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A sum of Rs.900 is distributed among 3 persons. P. Q. R such that Q gets
Rs.45 more than R and P gets Rs.30 less than R. Then the amount P gets, m
rupees. 1

RIP sl ic 145« RIQ ST puichls/; 0, 08900 405 P, Q, R
-iféﬂ; JL,?(!( P-ﬁu{?if/ 130
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If the roots of x2 + 6x — 27 = 0 are o and B, then o+ 83 =

4+ =B xE+6x—27=0/
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The sum of first 10 terms in an arithmetic progression 1s 20 and the sum of
first 20 terms is 10, then the 8™ term in that progression is

10 2 504620 20 AT éf_u’ arithmetic progression|
Kullrep /8 progression:
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If the sum of an mfinite Geometric Progression 1s 23 and the sum of the
squares of its terms 1s 69. then the common ratio s

<69 16 squares Z.r)ufu,-l;.Z} S J{’ s LGeometric Progression ot

F F

Orllerres

1) 15
13
) 10
13

(3) 23 . Q\

26

(4) % GJQ‘G
Options: \
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S
A\

3. 3
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2T 5 5T
sin? (—) + cos? (—) — tan? (—) =

3 6 4
1 1
@ 1
2
3 1
3
4) -1
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1. % 1 QQ;&
2.¥ 2
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4. % 4 \\Q
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cotd ¥ anl =2 = vosld =

-+

-+

(3)

1
V3
1
2

1

i_

2

(4) V3

2

Options: COQQ}'
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N
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A+B+C=m=tanA+tanB +tanC =

(3 1

(2) tanA tanB4+tanBtanC 4+ tanCtanA
(3) tan (A+B+0)

(4) tanAtanB tanC

Options:

1. % 1
Q
S
3.% 3 Q)Q
S
4.4 4 .
O

&
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secf +tanf =k = — =

(1) tan®

(2) cot®

(3) cosecB

(4) sect
Options:
1. % 1 ) \
2. % 2 \Q

S
v R
S
4, % 4 .
O
&
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From a distance of 60 m on the level ground. the angle of elevation of the top
of a building is 45" and the angle of elevation of the top of a flagstaff which 1s
situated on the top of the building 1s 60", then the length of the flagstaff, in
meters. 1s

\.«E’!;J!;, 45" di@,alic.ifjﬂw:f ﬁ_lj;&iuiﬁ: 60 ;irg&;v’ﬂ\.{j
S KO SRlagstaff e 60° sy o L L Kina§ sk L flagstaff

-J/rr:l""'

1) 120

(2)  60(v3+1)

(3) 180 \

@) 60(V3-1) Q,}\Q

R
O&Q
Options: A\

1. % 1 ‘\\Q
2. % 2 3&%‘
A\

3. 3

4.4 4
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Ina triangle ABC. AB=5cm. BC=6cmand CA=7cm, then the length of
the median AD. 1n cm. 18

MFAD median *CA = 7BC = 6 * AB = 5 cm#ABC triangle

RN
1) V7
@) 2v7
B) 37
@ 47
Q
Options : Q} )

1. % 1 COQ

2.¥2 N
&

3. % 3 ‘\\Q

4. % 4 ‘

K
N\
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Ina triangle ABC, AB =6 cm. BC =7 cm and AC =11 cm. If AD 1s the
altitude from A to the side BC, then the length of BD. n cm. 15

BCi-cAsaltitude ADSIAC = 11°BC =7¢AB = 6,2ABCakf]
oty 7§ SBD s A

() 3
@) 18
3) 4
W 2
Q
| N
Options: (&

1.8 1
S

2.2 ,&Q,A\
3.%3 \\Q
4, % 4 )

K
N\
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If the lengths of the diagonals of a rhombus are 48cm and 14cm, then the
perimeter of the thombus. in cm, 15

", . o i < e
VUtu 4§ perimeterd thombus —sux( 4831/ diagonals Zrhombus L

_-fﬁ
Ly 23
(2) 26
(3) 100
4) 104

Options : Q}
N

% o)
1. % 1 QC;SQ
2. % 2 .0

Q\
3.3 ’&Q’
N
4. % 4 %.

&
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If the lengths of the two parallel sides of a trapezium are 18 ¢cm and 12 ¢cm and
i i 7 : i . :
its area 15 105 ¢cm”, then the distance between the parallel sides, i cm, 13

21— A Ha, £oi 3
UFety 105 em” JAUICUn12 emasl18 em QUG #EIP Ut S

A M i

1 9
2 8
3) 7
4) 6
1. % 1 Q

2. % 2 00

3.¢3 .&Q)
4. % 4 \\Q

R
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If the radu of two circles are 6 cm and 18 cm and the distance between their
centres 15 9 cm. then the number of common tangents that can be drawn to the
two circles 1s
. . . P
Z.Tangmltsr*;ul..,}'x() em bl A L 18 cmusl6 cm .};b/uﬁ//u)i
?ugiﬁuféﬂgg.furﬁﬂfjﬁ

) 4
2y 2
3) 1
4 0
O\Q\
é L 2
Options : Q

1. % 1 0
2. % 2 Q\Q

3. % 3 \\Q

*

4.¥ 4

S
N\
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A chord of length 8 cm of a circle subtends an angle 30" at a point on the
circumference of the circle. Then the length of the diameter of the circle. in

cI. 18

Z.;_P// J@.@:ﬂ()ﬂ (B L ¥] 7Lz 8 em J»J Schord Z.Ji A

(1) 8

(2) 12
(3) 16
4) 20

Options : ‘ ’Q\
1. % 1 QQ}

2. % 2
N
3.¢3 Q\O

4. % 4 \\Q
&&%
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IfA(5,2);B(6,—15); C(0,0) are the vertices of A ABC, then A ABC1s

*A ABC syl s Lals [IA(5,2); B(6,—15); C(0,0)./

) right angled
) equilateral
) 1sosceles

(4)  right angled 1sosceles

Options :

1.41 \’Q\
Q’}‘
N

2. % 2
(&
3. % 3 &Q
.\0
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What is the ratio in which the y-axis divides the line segment joining the
poimnts A(12. -3) and B(3. 6) ?

JA(12,-3) »#BEG, 6)555;2;‘,?;{:5? Jline segment y-axis2y? c,.:.ﬁﬁ s

w [(ahd
s

1) 4:1
) 3:2
3) -3:2
4) -4:1

Options : QQ}

QO
1. %1 &Q
2. % 2 A’\Q
3. % 3 &Q)
R
4.9 4 ’

K
N\
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The ratio n which y-axis divides the line joming the points
A(-4.5)and B(3.-2) 1

-;.t'f Eﬂ"j (A(-4, 5).4B(, )f5E line joining’ y-axis (i ers

(1) 3:4

) A

B) 5i2

@y 2:5
Options : \

.\Q
1. % 1 Q}’
22 R
R
3.% 3 0
R\
4. % 4
&
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The equation of the line passing through the poimts A(2. 1) and B(4. 5) 1

-;:..[E.r:_l‘)/.f.;:t;}f;.A(z, [)1B(4, 5)56 2etslsbins

(1) y=2x-3
) y=4dx+5
3) y=2x+1
4 y=2x+3
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The sum of x and y intercepts of the line 7x + 4y = 56 13

eI ST Tx + 4y = S6m2e X

(1) 11
2) 0
(3) 22
4) 21

Options : X Q\
1. % 1 Q}
N

&
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2
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The equation of the straight line which is inclined at an angle of 120° to the
positive X-axis and makes y-intercept of 7 units 1§

-7 y—intcrccpbﬂX—axis:—};:l;,g},:}r;.fsl}é.ﬁﬁ{, 120° 215145 oo

1) V3y+x+7=0
@) y+V3x-7=0
B) y-V3x+7=0
@) —3y+x+7=0

Options : R .Q\

N\

1. % 1 QJ
N

v N
3. %3 Q\
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[f the line y = mx + c is the perpendicular bisector of the line segment
joining the points A(4,—7) and B(=2,1), then = =
C

-fxg*?” =iny = mx + /it eiA(4 =7)#B(=2,1)

g 3
@ -1
3
3 -l
5
@ s

Options : ‘ ‘Q\
1. % 1 QQ;&

2. % 2 COQ%
3.¥3 Q\

4. % 4 \\Q
,’&\Q%

Question Number : 140 QueEQon Id : 7856743889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
II. Algebraic and Geometrical Ability

=M b A

https://previouspaper.in/



https://previouspaper.in/

If the equation of line joining (2. 1) and (-4, -5) 15 ax + by 4+ ¢ = 0, then

a+b=
Kafa+b =Tnax+by+c=0°Q, D4, -5)2keii/)
1) -2
2) -l
3) 0
@) 1
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The mean of the following 50 observations 1s

1.35.7....99
<1,3,5,7,..99 AobaftaislS0 i
(1) 64
2} 56
(3) 50
(4) 48
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1. %1 QQ}
% QO
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The Mean of 6 observations 1s 40. If one observation 1s excluded. then the
mean of the remaining 5 observations becomes 39.the excluded observation 1s

18- 039 L2 balbel4leS JLE;E:JE’:G;@C%_"{JL?AU eI LY

Snfedbued g
1) 25
2) 35
(3) 45
(4) 40

Options : N Q\
1. % 1 QQ}
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The arithmetic mean of 24. 4. 12. 8. 36. 48. 20, 16. 28. 32. 40 and k 1s 26.

Thenk =
k=4x24.4, 12,8, 36, 48, 20, 16, 28, 32, 4{}5’:.;&5/,-!.@
() 32
(2) 44
(3) 28
4 36

Options : ‘\Q\
1. %1 (b‘Q

2.92 N
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Let A ={a,b,a+b,a—4b,ab,2b}. Ifb > 6 and the mean of the set is
b + 3. then the median 15

tab + 3 ober b > 6/IA ={aba+b,a—4b,ab,2b}/

Kl e Ie
(1) 2b+3
2) b+3
3) b+6
4 b+9

Options : Q} ‘

1. % 1 G_)Q

2.9 :

N
3. % 3 \,Q&Q)A
4. % 4 é\
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The median of a data contains 33 observations 1s 71. If another 4 observations
08. 89. 63, 36 are included in the data the median of this new data 1s

uﬂ»ifJLﬁ()S, 89, 63, 3614 Li'r'4¢;r'/fl ‘e bl e (5 gyl 32 2sKoy L

_gyf_l.f:: bskiy

74

— —~—
L [ ]

69
65

=
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2.9 2 . 00
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Four entries are added to the data 3, 28, ﬁ%?izéfpfﬁ,v%‘?%faﬁeﬂfe”r’e 1s no change
in the arithmetic mean and median but its mode 1s increased by 1. then the
four entries (quantities) that are added to the original data are

Lot b Soa Lo JSE AL L5, 28, 15, 10, 15, 8, 24 2bel.i4
et L LS 2ol e in oK1 52 mode £l § 4 0

() 10,12,12,12
(2) 11,14.14,14
3) 12,16.16,16
4 13,17.17,17

Options : .
S

1. % 1
| K
2. % 2 ,0&

3.3 <
N

*

4. % 4

&
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The mode of the following frequency distribution 1s nearly

et /modetfrequency distribution} i

Family size t-3 3.5 | 5.7 | 7-9 | §_11

Number of families

(1) 348
(2) 329
3) 3.2

(4) 296 ‘ Q\

Options : GDQQ}'

1. % 1 Q)A‘\

2.¥2 \
N

3.% 3 %.

R
4. % 4 \6&
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If a card is selected from a deck of 52 cards. then the probability of it being a
red faced card 1s

LivPnliked faced  L-etip) EWH L L3LL0 452
Sl

’0&/.

Options: &Q)

1.¥1 \\Q
\Q")

2. % 2 \6&

3.% 3
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Two dice are thrown once, what 1s the probability of getting a total of 10 on
the faces is

el 1 L0 Jiiial g2 L dicess

(1 10
36
@ 7
36
3 4
36
@ 3
36

ions : (b"
Opt &Q
1. % 1 . Q

2. % 2 <
N

*

3. 3

R
4.9 4 \6\
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A bag contams 4 white and 6 black balls. What is the probability of drawing
two balls in succession without replacement so that the first ball 1s white and
the second 1s black?

_i:f_iiq/f‘!pr(}bability ‘balls Ll bd 82 -t s K6 siui-4 u’:p!:? oy

-fﬁy’.ﬁuwwmamewJ byl b

1 4
15
2} 6
15
(3) 10
15 : \Q\
@ 12 &

Options : Q)Q‘\O
\

1.¥1 %\\Q

2. % 2 ’@

3.% 3 \Q

4. % 4
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Correct Marks : 1 Wrong Marks : 0 _ _
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Part 1: Meanings (sentences wnﬂ das es\ﬁ bap

To look at something quickly and secretly, especially through a small opening :

(1) spy
(2)  probe
(3)  peep
(4) espy
Options:
1. % 1

2. % 2 \&
3. ¢ 3 Q'}
4. % 4 GDQQ&

Sub-Section Number : . 00 2

N\
Sub-Section Id : &Q)A 785674429

Question Shuffling Allowed : ‘\\Q Yes

*

K
N\

Is Section Default? : null

Question Number : 156 Question Id : 7856743905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms
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The most appropriate synonym of ‘emulate’ https://previouspaper.in/

(1)  surpass
(2)  mumuc
(3) inflate
(4) augment

Options :
1. % 1
2.¥ 2

3.# 3

4. % 4 \’Q\
Q’}‘
o

Question Number : 157 Question Id : 7856743906 Qg tion Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question&@iatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruct"{@ ime:0

Correct Marks : 1 Wrong Marks : 0 ‘\\Q

Part 2: Synonyms and Ajlt;@m

AN

The most appropriate synonym of ‘stentorian’

(1) thunderous
(2) pleasing
(3) musical

(4)  gratifying

Options :
1.91

2.8 2

3. https://previouspaper.in/
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4. % 4

Question Number : 158 Question Id : 7856743907 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The most appropriate antonym of ‘exude’

(1) exclude " \Q\

(i) 1'eﬁiseal QQJ\ ¢
(3) cc.mrce | Q(b’
(4)  display 03

&
Options : ‘\\Q
1 1 %‘
® ’)\\'Q
2. % 2
3.% 3
4.4 4

Question Number : 159 Question Id : 7856743908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms
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The most appropriate antonym of word ‘inttsié/previouspaper.in/

(1)  sophisticated
(2) uncouth

(3) poised

(4) rural

Options :
1. % 1
2.¥ 2

3.# 3

4. % 4 \’Q\
S

Question Number : 160 Question Id : 7856743909 Qgétion Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question M tory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instructi@ime :0

Correct Marks : 1 Wrong Marks : 0 \\Q
Part 2: Synonyms and Ajlto;@

N
The most appropnate antonym of the word ‘conducive’
(1)  productive

(2)  competent
(3) adverse

(4)  fruitful
Options:
1. % 1
2. % 2
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3.43

4, % 4

Sub-Section Number : 3
Sub-Section Id : 785674430
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 161 Question Id : 7856743910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

By the time the boy entered the classroom, others i 00

(1) leave Q)
(2)  have left \\Q&

(3)  will have left Q% .
@ D
A\

were leaving

Options :

Question Number : 162 Question Id : 7856743911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
https://previouspaper.in/



Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/

Part 3: Verb (Tense & Voice)

English 1 many countries in the world.

(1) was speaking
(2) spoken

(3) 1sspoken

(4)  had been spoken

Options :

1. % 1 \’Q\

\ .
2. % 2 QQ)
Q‘Z}
3.¥3 0‘:1)
O
4. % 4 Q\
&
Question Number : 163 Questio§;>856743912 Question Type : MCQ Option Shuffling : No

Display Question Number : uestion Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

The mumster for New Delhi yesterday.
(1) left
(2)  hasleft

(3) Has been left
(4)  had been left

https://previouspaper.in/



Options : https://previouspaper.in/

Question Number : 164 Question Id : 7856743913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice) ‘\’Q\

The old man here for many years now. C)Q

(1)  had lived Q\
(2) lived

(3) was living ,\\Q
(4)  has lived ’@%
A\

Options:

Question Number : 165 Question Id : 7856743914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 _ _
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Part 3: Verb (Tense & Voice)

The boy gave a surprise to his father

(Change the voice)

1)  The father received a surpnse from his boy.

The father had received a surprise.

Laa
o

The father was given a surprise by the boy.

Ko — — —
-2
S

4)  The father was being given a surprise by the boy.

Options :
1. % 1 \’Q\
2. %2 Q§
R
3.¥3 &Q
4. % 4 A\O
&

Sub-Section Number : Q 4
Sub-Section Id : %‘\\ 785674431
Question Shuffling Allowed : )’\\.'Q Yes

Is Section Default?: null

Question Number : 166 Question Id : 7856743915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms
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I can testify his honesty. https://previouspaper.in/

(1) for
(2) to
(3) on
(4) upon

Options :

1. % 1

2.9 2

3.% 3

4. % 4 ’\Q\

Question Number : 167 Question Id : 7856743916 Q@%n Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Man@g& y : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction e:0

&

Correct Marks : 1 Wrong Marks : 0 \
Part 4: Phrasal Verbs & Idimu%\

S
N\

My grandfather 1s hard hearing.
(1) on
(2) at
(3) of
(4) off
Options :
1. % 1
2. % 2
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Question Number : 168 Question Id : 7856743917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

He jumped the opportunity of gomg abroad.

W \’Q\

(2 on

(3) for (CQ
(4) off
S

Options : .&Q)
N
1.9 1 %.
R
2. % 2 ”\.\'
3. % 3
4. % 4

Question Number : 169 Question Id : 7856743918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms
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After retirement, he became a couch go@%@sﬂr%ﬁﬁﬂ@@%% means

(1)  an active person
(2)  ahefty person
(3) aweak person
(4) alazy person

Options :
1. % 1
2. % 2
3. % 3

4.¥ 4 0‘\0\
S

Display Question Number : Yes Is Question M

Question Number : 170 Question Id : 7856743919 @Ton Type : MCQ Option Shuffling : No
ory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction@ne :0
Correct Marks : 1 Wrong Marks : 0 .Q&

Part 4: Phrasal Verbs & Idic-m%.
R
Q

You have to think big 1f you want to achieve anything. The underlined idiom means

(1)  thmnk too much
(2)  have ambitious plans
(3) think calmly

(4)  consider modest plans

Options :
1. % 1

2.¥2 https://previouspaper.in/
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3. % 3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 785674432
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 171 Question Id : 7856743920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0 \
Part 5: Articles & Prepositions '®

Kalidasa 15 Shakespeare of India. C)Q

(1) :a A\
(2) the .&Q)

(3) an ‘\\Q
(4) one \Q% ‘
AN

Options :

Question Number : 172 Question Id : 7856743921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/



Part 5: Articles & Prepositions https://previouspaper.in/

I saw an old man near bus stop.

(1) a
(2) our
(3) the
(4) an

Options :
1. % 1

2.8 2

Q
3.3 \

&.

&
4. % 4 (GQ
S

Question Number : 173 Question Id : 7856@;922 Question Type : MCQ Option Shuffling : No

N

Display Question Number : Yes Is Q A@m Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum@ ctionTime: 0

Correct Marks : 1 Wrong Ma[&gt)

Part 5: Articles & Prepositions

As he did not pay the dues, the electricity has beencut

(1) up

(2) of

(3) out

(4) off
Options :
1.8 1
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Question Number : 174 Question Id : 7856743923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions
Our company 15 nOw a firm footmg.

@) in \$
(2) on (&QJ
(3) into &Q

QO

(4) at .

Options: \\Q

Question Number : 175 Question Id : 7856743924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions
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Gulliver’s Travels 15 a book childigtps://previouspaper.in/

(1) for
(2) of
(3) to
(4)  upon

Options :

1.4 1

2. % 2

3. % 3

4. % 4 \’Q\

Sub-Section Number : 6
Sub-Section Id : c) 5674433
Question Shuffling Allowed : 0\0 Yes

Is Section Default?: &Q)A null

Question Number : 176 Questiq@ 7856743925 Question Type : MCQ Option Shuffling : No
Display Question Number :\é}fs Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

We use the rules of encrypted to ex-change files over the mternet.
(1) FTPIP
(2) Hyperlnk
(3) HIML
(4) HTTP
Options :
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4. 4

Question Number : 177 Question Id : 7856743926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

World Wide Web was invented by : Q)\ .
| R
(1)  Tim Berners-Lee Q
O>°
(2)  Vinton Gray Cerf . 0
A
(3)  Charles Babbage Q)A
(4) Robert Kahn \\Q\
c%.

Options : Q\\"Q
1.1
2.8 2
3.% 3
4, % 4

Question Number : 178 Question Id : 7856743927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Part 6: Computer Terminology https:/previouspaper.in/

A piece of data that 1s stored within a web-browser and refrieved at a later fime 15 called a

(1) Bug
(2) Cookie
(3) Hyperlink

(4)  Hyperloop

Options:

. ‘\Q\
Q}.
3. % 3 (b‘Q
)

4, % 4 .0
N
&

Question Number : 179 Question Id : 743928 Question Type : MCQ Option Shuffling : No

2.9¥2

Display Question Number : Yes estion Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minin\é&nstruction Time:0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

DNS is the short form of

(1)  Disk Numbering System
(2)  Data Number Sequence
(3)  Domain Name System

(4) Digital Network Service

Options:
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3.3

4. % 4

Question Number : 180 Question Id : 7856743929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

Q

Which one of the following serves as a reference pomt that connects a particulgrpag# to other

pages on the web page? (&

(1) Reference .\00
(2)  Web link )

(3) Referral code \\Q

(4) Hyperlink ¢

Options :
1. % 1
2. % 2

3.# 3

4, v 4

Sub-Section Number : 7
Sub-Section Id : 785674434
Question Shuffling Allowed : Yes

Is Section Default? : null
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Question Number : 181 Question Idht7856743930apestivn Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
Making a list of a company’s physical assets 1s known as

(1)  background check
(2) filing
(3) inventory

(4)  credit check
Options : '\’Q\
1. % 1 (&

R
Question Number : 182 Que&n Id : 7856743931 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
A contract that prohibits an employee from switching fo a competing company s called

1)  mception option.

business conduct manual

T I R |
R R

non-compete agreement.

4)  paralegal clause.

https://previouspaper.in/
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Question Number : 183 Question Id : 7856743932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology . .Q\
A company’s positive resources are considered as (CQ

(1) assets. . 00
N
(2)  habilities. A

(3)  contracts.
o W

working capital .

Options :

Question Number : 184 Question Id : 7856743933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Part 7: Business Terminology https://previouspaper.in/

The movement of finished goods from production to the customer 1s

(1)  physcal supply
(2)  physical distribution

(3)  supply cham

(4)  conversion cycle

Options :
1. % 1

2.9¥2

3.% 3 ‘\’Q\

4. % 4 Q{&

Question Number : 185 Question Id : 78567@84 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Q @nandatory No Calculator : None Response Time
: N.A Think Time : N.A Minimum Inst\&t onTime:0

Correct Marks : 1 Wrong Mark@

Part 7: Business Terminoldgy

Individual ownership s called

(1)  Cooperative society.

(2)  Joint trade agreement.
(3)  Partnership management.
(4)  Sole proprietorship.

Options :

1. %1

2. https://previouspaper.in/
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® 2

3. % 3

4.4 4

Sub-Section Number : 8
Sub-Section Id : 785674435
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743935 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruc&n Time: 0

Question Numbers : (186 to 190)

Part 8: Comprehension Q%Q

Freedom and power bring responsibility. The 1e5 1 tj,-' rests upon this assembly.
a sovereign body representing the sovereign people ot@n Before the birth of freedom, we
have endured all the pains of labour and our he 1% avy with the memory of this sorrow.

That future 1s not one of ease of rest mr:essa_nt striving so that we may fulfil
the pledges we have so often taken and t e shall take today. The service of India means
the service of the nullions who suffﬁ'@m the ending of poverty and 1gnorance and disease
and mequalify of opportumify.

The ambition of the greatest man of our generation has been to wipe every tear from
every eye. That may be beyond us, but as long as there are tears and suffering, so long our work
will not be over.

And so, we have to labour and to work, and work hard, to give reality to our dreams.
Those dreams are for India, but they are also for the world, for all the nations and peoples are
too closely knit together today for anyone of them to imagine that 1t can live apart. ..

To the people of India. whose representatives we are, we make an appeal to join us with
farth and confidence 1n this great adventure. Thus 1s no tune for pretty and destructive criticism,
no time for 1ll-will or blaming others. We have to build the nobble mansion of free India where
all her clildren may dwell.

Sub questions

Question Number : 186 Question Id : 7856743936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Qhi&stiop d@ndazpeyinNo Calculator : None Response Time



: N.A Think Time : N.A Minimum InsbtpetioreYienepaper.in/

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What 15 the ‘Sovereign body representing the sovereign people of India’ referred to mn the

passage?

(1)  The Parliament of India.

(2)  The Assembly of a state.

(3)  The Constituent Assembly of India
(4)  The Constitution of India.

Options : R \
&
1. %1 Q

2. % 2 c_’,Q

3.+ 3 4\

Question Number : 187 Quee{éiv : 7856743937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

According to the speaker, India means

(1)  1its geographical boundaries.
(2)  1ts members of parliament.
(3)  1ts leaders.

(4)  1ts people.
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4.4 4

Question Number : 188 Question Id : 7856743938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension ‘\‘Q\
S
_ R
The speaker dreams of better future for : Q
\g
(1) India only Q\O

(2)  the countries other than India only.
(3) India and the world. ,\\

(4)  the leaders representing ]_nd,'Q% ’
4

Options :

Question Number : 189 Question Id : 7856743939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

https://previouspaper.in/



Correct Marks : 1 Wrong Marks : 0 https://previouspaper.in/

Part 8: Comprehension

The speaker 1s agamst

(1)  crticism of any kind.
(2)  healthy criticism.
(3)  unhealthy crificism.

(4) constructive eriticism.

Options :
1. 8 1 . Q\
O
2. % 2 <
N
3.3 QCJQ
4. % 4 A‘\O
(Z)
Question Number : 190 Question 1%51\56743940 Question Type : MCQ Option Shuffling : No

Display Question Number : Ye@uestion Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minim Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The tone of the passage 1s

(1) sorrowful.
(2)  1ronic.

(3)  1idealistic.

(4)  light-hearted.

Options :
https://previouspaper.in/
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1. 1

2. % 2

3.9 3

4. % 4

Sub-Section Number : 9
Sub-Section Id : 785674436
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856743941 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum In ttion Time: 0

Question Numbers : (191 to 195) ‘b.Q

R
Part 8: Comprehension 0’
&

The most frightening aspect of nlalnuhf\\o 15 that 1t 15 likely to cause permanent
damage to the bram. Expenments carrie ammals suggest that brain damage due to
malnutrition 1s ireversible. This may of human bemngs. Nevertheless, known facts
as well as results of tests conducte pomt to alarming conclusions. The human brain
orows very fast. Three months before its birth, the cluld’s brain weighs one-fourth of the adult’s
bram. In one year, the bram of the cluld 1s already 66 percent of the weight of the adult brain.
At four years, the brain weighs 90 per cent and at eight the child’s brain 15 the s1ze of an adult’s
and there is no further increase. Quite obviously, the first four years are crucial for the
development of the brain. And if the child suffers from malnutrition, the damage to the brain
may well be permanent.

Thanks to the systematic research of the National Institute of Nutrition, Hyderabad, we
are able to address at least some aspects of the problem of malnutrition m tlis country. For
instance, it was found that the addition of 10dine m the lake-water salt consumed in the Sub-
Himalayan region would go a long way to controlling goitre. Agam experiments made by the
Institute reveal that mexpensive green leafy vegetables are a good alternative to eggs and butter
as rich source of Vitamin A.

Sub questions
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Question Number : 191 Question Idht7856743%AQapestivn Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

When does the cluld’s brain attain full growth?

)
(2)
(3)
(4)

Options : (&

4. 4

at the age of eighteen.
at the time of burth itself.
at the age of four.

at the age of eight.

Question Number : 192 Question Id : 7856743943 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension
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Which period 1s important for the develoﬂﬁ@i?’f/é@ fRMipiShaRey I/

(1)  the first four years
(2) infancy

(3) vouth

(4) old age

Options :
1.9 1
2. % 2

3. % 3 \

4% 4 $
Qé

Question Number : 193 Question Id : 7856743944 ﬂébt.i'on Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question M tory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instructi@ime :0

Correct Marks : 1 Wrong Marks : 0 ‘\\’Q&

S
Part &: Comprehension Q
I \6’\,\

The reason for brain damage 1s

(1) anger.

(2)  good nourishment.

(3) lack of proper nourishment.
(4)  junk food.

Options :
1. % 1

2. % 2

3. https://previouspaper.in/
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Question Number : 194 Question Id : 7856743945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Which of the following statements 1s true?

(1) Human bram grows continuously throughout life. ‘\Q
(2)  Brain damage due to malnutrition 1s reversible in animals. Q} :
(3)  Brain damage due to malnutrition 15 1rreversible in amm 5&

(4)  Gottre can be controlled by avoiding 10dised salt. 003

Options : <
AR
2. % 2 ”&&Q

3.3

4. % 4

Question Number : 195 Question Id : 7856743946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension
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‘The addition of 10dine 1n the lake-water salt colnttped fardviabsShapéryt/ region would go
a long way to confrolling goitre.

(1)  Takes a long time fo achieve success mn controlling goitre.
(2)  Anmmportant factor in achieving success 15 controlling goitre.

(3)  Travel a long distance 1s controlling goitre.
(4)  Makes 1t quite dafficult to achieve success in controlling gortre.
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3.% 3 \’Q\
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The last few years have ushered in a hars MRS/ APREMIQUSPAP &l Yrm rather than
the exception. Pandenucs, economic slumps and extreme weather events were once tail-end
nisks but all the three have hit South Asia in rapid succession since 2020. This 1s deeply
distressing because the knowledge, skills and health that people accumulate — their human
capital — 15 a cnifical source of the resilience what countries rely on for recovery. Globally,
countries that have systems in place to support individuals and families before a crisis spikes,
can better protect their citizens durmg the crisis. Human development systems must be agile,
restlient and adaptive. Such systems will help countries better respond to future shocks as well.
Crises are unpredictable, and often present rapidly changing circumstances. A well-functioning
system 15 one that can spring info action the moment a shock strikes, ensure essential services
such as health care and learning remain uninterrupted. Since services are provided by different
ndividual sectors, human development systems must be able to coordinate efficiently across
sectors. The road ahead for South Asia 15 rocky. A robust human development system would
not only mufigate the damage but also help ensure lives and livelihoods are protected.
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Part 8: Comprehension \\Q

In recent times South Asia hagé’}gnced

(1)  robust growth in human skills.
(2)  unforeseen upheavals.
(3)  surge in human capital.
(4)  growth in healthcare.
Options :
1. % 1

2.9¥ 2

3.# 3
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Part 8: Comprehension

What 1s needed for rapid recovery from a crisis?

(1) human capital

(2)  political will \
(3)  economic slump . \Q
(4)  income growth Q)\ .

Options :
S
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(1) protective.
(2) dynamic.
(3) docile.

(4)  crntical

Options :
1. % 1
2.9¥2

3. 3
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Part 8: Comprehension

N
A functioning system ensures

(1)  passive response.
(2)  frequency of crises.
(3) timely response.
(4) individual mtiative.
Options:
1. % 1
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Part 8: Comprehension

A robust human development system would

(1) 1ncrease the damage

(2 weaken the education sector.

(3)  strengthen the health sector.

(4)  protect the lives and livelithood. Q
&
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